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Reasoning Mega Quiz for SSC CHSL (Solutions) 

 

S1. Ans.(d) 

Sol. (19)² + 19 = 380  

(37)² +37 = 1406 

 

S2. Ans.(d) 

Sol. bus is used for transportation 

Phone is used for telecommunication.  

 

S3. Ans.(c) 

Sol. +4, -4 series 

 

S4. Ans.(d) 

Sol. except (d), all other are synonymous of happy.  

 

S5. Ans.(d) 

Sol. except (d), all other are divided by 17 

 

S6. Ans.(c) 

Sol.  

 
 

S7. Ans.(a) 

Sol. +4, +4, +4, series 

 

S8. Ans.(c) 

Sol.  
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S9. Ans.(a) 

Sol. 

 

 

S10. Ans.(b) 

Sol.  

 

 

S11. Ans.(d) 

Sol.  

 

 

S12. Ans.(a) 

Sol. Prakash 

Umesh  

Mohan  

Suresh  

Sohan  

 

S13. Ans.(C) 

Sol.  

 

 

S14. Ans.(d) 

S15. Ans.(d) 

S16. Ans.(b) 
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S17. Ans.(b) 

Sol. 

 
 

S18. Ans.(d) 

S19. Ans.(d) 

 

S20. Ans.(c) 

Sol.  

 
 

S21. Ans.(d) 

Sol. Opposite letters  

 

S22. Ans.(c) 

Sol. Magic is done by magician  

 

S23. Ans.(b) 

Sol.  

 
 

S24. Ans.(d) 

 

S25. Ans.(a) 

Sol. There are 17 triangles in the given figure. 

 

S26. Ans.(a) 

Sol. = 45 – 87 ÷ 29 × 5 + 20 

= 30 + 20 

= 50 
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S27. Ans.(a) 

Sol. sum of each box’s no. is 13 

 

S28. Ans.(a) 

Sol.  

 
S29. Ans.(d) 

Sol. Gateway of India → Mumbai→ Maharashtra→ India→ Asia→ 

World. 

3,2,5,6,4,1 

 

S30. Ans.(b) 
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